Let 
[image: image1.wmf]X

 and 
[image: image2.wmf]Y

 be Banach spaces and let 
[image: image3.wmf](,)

ABXY

Î

.  (Note: 
[image: image4.wmf](,)

BXY

 is a set of all continuous linear transformations 
[image: image5.wmf]:

AXY

®

).  Show that there is a constant 
[image: image6.wmf]0

c

>

 such that  
[image: image7.wmf]Axcx

³

  for 
[image: image8.wmf]xX

"Î

 iff 
[image: image9.wmf]ker(0)

A

=

 and gra 
[image: image10.wmf]A

 is closed.

_1193050833.unknown

_1193050930.unknown

_1193051036.unknown

_1193051051.unknown

_1193050980.unknown

_1193050889.unknown

_1193050582.unknown

_1193050618.unknown

_1193050667.unknown

_1193050576.unknown

